Efficiency vs P,

0.0
o
£0.009
3
£0.008
£0.007
(0]

0.006]

0.005

0.004

0.003
0.002
0.001
0

Ratio

— 3
107 1 10 '?'BZPT (Ge\}P

_58'—.— M_CRFFIT_T000evt
—_— _CKFREFit_1000evt

— BQM:MkFitREFﬁ_lOOOevt
—+— DOQM_TESTOLHIT_1000evt
=0.0F————
©.000F-+++-ievoseedoreeneben b b
R0 R ST S S ST ST
o F i
@007+ evbee e b
= E : :
B.006F--+++-eeeeederee b b
0005k +++++h-eeeds ook dn RS
0.004F -+ ffheedeeenesbonf B
0.003F M-+, R
0.002F -+ 14 fr - K SRR
0.008++- + TR i1 5 SR
o q-_.l.l..l..l.i‘ | -:": | i bl i ;g |-|--|-|--|-
IS C ] 5
@ 0.8F-------1 H - ~RPEPRE
0.6+ T M -BH
3 2 -1 0 1 2 3

Efficiency vs @

= 0.0
9.009
>
%.008
Q
-§).OO7
[J]
0.006
0.005

T [T [ I I I T




	Contents
	Page 1


